. Let S be as in the previousproblem, and let B = {(1{050,0), (0, 1,0, 0), (0,0,1,0), (0,0;0,1)} ’)
be the standard basis of R*.|Extend your basis from the first problem to @ basis of R4by k O\(

adding vectors from B. s.g—;i(k ‘1,3,%\,(1,3,U,$) (3,4-,§,Q¢( .
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1. Let V be a vector space over F with basis B = {vy,...

,Un}. Let W be a vector space over

F, and let wyq,..., wy, € W be arbitrary elements (not necessarily distinct). Prove that there

exists a unique linear transformation 7" such that 7'(v;) = w; for all i.
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QI your answetr.
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1. (True/False Jeopardy) Supply

W},g reasop

(a) T F Let F be a field. Then ]-"EEF) is infinide

®) T F

Let V be a vector space of dimension n, and let .S D&
of V with #S > n. Then there exists a subset B C §

IfV=U®W, and S is a basis of V such that some subset
U, then S\ Sy is a basis of W.

Rich is a basis for V.

(d T F
#S < n. Then S is linearly dependent.

(e) T F
Im(V) = Im(U) & Im(U").

@ T= L (o —?‘_’3»)
&
(e F)

© Eolse
\/=—l,grl < W= .

L=31(D.(2)¢)

#S 72

a linearly dependent subset

Let V' be a vector space of dimension n > 1, and let S be a subset of V' with

Suppose that V =U @ U’, and let T : V — W be a linear transformation. Then

F(R.E) -2
8wl

C S is a basis of {3’@«(%@\2}(/ _-_/..-C(

b= X=X
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